QUANTIFYING DOWNED TIMBER VOLUME
PLANT ECOLOGY LABORATORY

Location: Upland and floodplain forests
Objective: To compare the volume of downed timber in floodplain and upland forests
Hypothesis: Flooplain forest trees, with shallow root systems, are more prone than upland forest trees to blowdown during storm events.
Agenda:

1) Work in groups of 6 students to set up 50-m transects (five transects per group) throughout the floodplain forest.  Measure the diameter of every tree, log, or larger stick that lies along each transect.  It is not necessary to determine the species or length of the trees/logs/sticks.  Keep measurements made along each transect separate from those of other transects.
2) Follow the same procedure in the upland forest.
Analysis:

1) Combine data from all groups: 15 transects in floodplain forest, 15 transects in upland forest.

2) Use the following formula to determine the volume of downed timber along each transect:

V (m3/m2) = (π2/8L) ∑d2
where V is volume, L is transect length, d is diameter

3) Use a simple, one-tailed t-test to compare volumes of downed timber between floodplain and upland forests.

4)  Have recent, strong storms caused more blowdowns in floodplain forests than in upland forests?
Equipment:

Meters tapes, diameter tapes
